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Question 1
Show the points A(-2, -3), B (1, 1) and C(7, 9) are collinear. -
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Question 4

Question 2
In this question, you must use the “4** method.
Find the equation of the line through tlie point of intersection of the two lines 2x —3

y—
which is parallel to the line 2x—y +5 =0,

« The triangle ABC has vertices 4(2,4), B(10, 10) and C(5 -2).
i) Find the equanon of the line 4B,

2=0 and x=2y ii)  Find the length of 4B

i
iify  Find the area of the triangle ABC
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i) Divide the interval PQ extemally in the ratio 5:2, where P is (-2,3) and O is (4; 1%)

Question 5 -

i) Plot the poiuts 4(6, 10), B(-6, 10?, C(0, 12) on the number plane.

y + "
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; - 0. f — ‘ i) A centroid is the point which divides any median ofa triangle in the ratio 2:1.
~10 ' f 10 Find the centroid of the triangle with vertices A4(-2,4), B(-8, 10) and C(2, 4).
i) Write down the equation of the perpendicular bisector of 4B

iii) The circumcentre of a triangle is the point where the perpendicular bisectors of the sides meet.
Find the coordinates of the citcumcentre

i) Ais(5,2) Bis(3, 10)and Pis (1, §). In what ratio doss P divide 457
I
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iv)  Find the equation of the circumcircle, which is the circle passing through 4, B and C.
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Question 7
The points OPQR form a parallelogram. Take the points as

O(0, 0), P(a, 0), O(b + a, ¢) and R(b, c).

Prove, using coordinate geomelry, that if the diagonals are perpendicular then the figure is a thombus.




MORIAH COLLEGE
MATHEMATICS DEPARTMENT
Coordinate Geometry

SOMLTLONS -

Question 1
Show the points A(-2, -3), B (1, 1) and (7, 9) are collinear.
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Question 2
In this question, you must use the “&”’ method.
Find the equation of the line through the point of intersection of the two lines 2x — 3y-2=0 and x=2y

which is parallel to the line 2x -y +5=0,
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Question %\ v
Prove that 3x+4y-15=0 isatangentto the circle »? +y' =9
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Question 4

+ The triangle ABC has vertices 4(2,4), B(10, 10) and C(5, -2).
i) Find the equation of the line 4B.
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ii)  Find the area of the triangle ABC Ld
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Question 5
i) Plot the points 4(6, 10), B(-6, 10}, C(0, 12) on the number plane,
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ii) Write down the equation of the perpendicular bisector of 4B

gL =0 / L @

iii) The circumcentre of a triangle is the point where the perpendicular bisectors of the sides meet.
Find the coordinates of the circumcentre
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iv) Find the equation of the circumcircle, which is the circle passing through 4, B and C.
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i) Divide the interval PQ extemally in the ratio 5:2, where P is (-2,3) and Q is (4, 1%5)
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ii) A centroid is the point which divides any median of a triangle in the ratio 2:1.
Find the centroid of the triangle with vertices A(-2,4), B(-8, 10) and C(2, 4).
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Question 7
The points OPQR form a parailelogram. Take the points as

0(0, 0), P(a, 0), O(b + a, c) and R(b, c).

Prove, using coordinate geomeiry, that if the diagonals are perpendicular then the figure is a thombus.
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